9 by 9 Killer Sudoku

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.
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Answers

Fill in the numbers 1 to 9 in such that each number only appears once in each row, column and
dotted sub-region (cage). The sum of the numbers in a cage must equal the printed clue numbers
of a cage.

1 /512171639 48
3817194 /116 2]5
916 412|581 3|7
21916137581 4
4 '3 |51 |8 62|79
7111814192563
6 1219183714 5|1
5143161917 812
817115121413 ]9]6
71216141 /9135]8
5111312 (8,614[9]|7
914 873 /5|1 ,2]6
4 '3 |516|7|1]9|8]2
216 718914513
819 |15 2[3]16|7|4
318495712611
6 |52 |14 /81739
1 /719131621845
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